(Addition And Subtraction)

AP (Digit) : ST T AT BT YU FEAT HET I
2, SN 0 9Td BT | SHDB! =T 10 BT B |

AAT (Numbers) : — 19 AT Fbl BT SHIS,
qER Hael, T9R SANME & WIF R & W Sl 44

Base (7 1) ¥ 10 STIe®) Tl 137 2 |

Ex.5 63928 — 42043 + 2 = 35295
Solution : — $9 Y39 & ¥ BASE NUMBER oid &—
352905

Tl BT © 98 AT dediil & | e | F=amd 10

3P A B ferdx g9l §, gafery wam e B |

IQTEI0T © — 438, 6897, 47391 TS |

ﬂ-{{aﬂ |l (Mixed Numbers):—

9 Bl qui W den e W @l SISl ol g,
ar 99 |ygaa

A& HET AT & |

(A) Yol &R &1 Jis 9 IcHT (Addition And
Subtraction of Whole Number)

Ex.1 5+55+555+ 5555+ 55555

Solution:— S9 OXE & Al ¥H ¥ e W&l IR
PIS 3fF AT & SAPBI  BASE 9910 & 3R BASE
I & g ISAD! RIS HH (Assending order) H
RANK @R <d & IR SUd 9% af TR% I UddH
b BT AT H PR d T 3R THE BT b
IGd 2 3R g B B HA gY forad € |

EX.2 0.88888 +0.888 +0.888 + 0.88 + 0.8

Solution : g9 U3+ Bl A tlﬁ U9 B YifdT Solve NI
I R SA-T BN f SH®BT Ranking STARIE! HH
(Decending order) # #d g1 9@l ufhar s ueH
ST & T |

Ex.3 87259 + 94329 + 3465 + 489 + 98 + 9

Soulation : — 3fd 3TT—3TTT BH W BH AW Ugol
BT BI DY B ofd B Tal UlhAT M HRd & 3R
3T # e @ 91 4N et forad | o

TPIS =(9+4+5+9+8+9)=4 (@ = 4)
TEE = (5+2+6+8+9)=(30+4)= 4 (I = 3)
ABHST = 2+3+4+4)=(13+3)=6 (DA = 1)
FIAR = (7+4+3)=(14+1)=5 @ = 1)

THEIR = 8+9)=17+1 = 18

3 : AT = 185644

Ex.4 8713 — 1324 +2036— 1761 =?

Solution : — ﬁ'ﬁ USol Base Number ofc] &—
8713

IPIS =(4+6-1)=1+3=4

TBE = (2+3-6)=-5+11=6

AP = (3+0-7)=-10+16=6

BUIR = (-1+2-1)=0+7=7

3 T = 7664 Ans.

Note:—l.ﬂ%ﬁfﬁ—(ﬂﬂ%Value@TﬂT %\r)

s Base® 1H 10 SSdR el AT 8 |

2. APbs § — (U B Value SITET )

SPhls =(3-8)=-5=5-5=0

TEE =4-2=2=9+2=1 (@A =1)

AHST = (0+9)=-9=12-9+1 (B = 4)
TIR = 2-3)=-1=4-1=3
T BOIR = (4-6)=-2=3-2=1

3T : FE&IT = 13410 Ans.

@) = &1 WIs / 9"c<Hl (Addition And
Subtraction of Fraction)
Ex. 6
5+E =52Ans.
7 7
UH geAl o9 3 < W & DHad gD o8 Bl
g ©

Ex.7 ., 37
7

2
Sol. 37+57

39 37 3N STrﬁE o %\’ 9D 91 fraction dT Value
S avE forg < B

37+5 +E:422 Ans.
( )
7 7

7

Ex. 8 17——:(17—1)M:161 Ans.
8 8 8

ST 3% < BICT B A WY Ul YU HAT ¥ 1
HCR , I9d 919 B ¥ 3 P "M B | IR
B P AU WM R & /A <d 2|

197_ﬂ:?
17

Ex.9

=197- 11&
17

17-10)

:(197—12)(7:1851

17

9 3 > &R B d a9 UgS S A Bl g B
g, 99 98 Uf W@ § 9 S & NS Value # 1
STSdR Teid 8, SUd d1€ W 9 Y & =i &,
3R B BT 3T WIH W 9 B o & |

10 27
20 10

Ans.

Ex.10
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(Addition And Subtraction)

Sol.
=(10+21+17)+ 2. n 7
5 20 10
_qgyf 81114
20
=48+£
20
_ 43412 493 ang,
20 20
Ex.11 72()+f
5
Sol. (20— 1)& — 191 Ans.
5 5
43
~183—-—
Ex.12 29
43
-  —183—Ans.
sol. 9
Ex. 13 121—22—81+142
2 8 8 10
sol. = (12-2-8+14)| 22T, 2
2 8 8 10
_ 16+[20—25—35+36)
40
- 16— oL
40 10
(1o-1 .9

= (l6-1)—==15=— 4
(6 ) T 510 ns

Exercise for Practice
1. 9898 + 7887 =? — 4234 — 3241
(1)26360 (2) 26260 (3) 25360
2. 83.492 +104.28—-?=178.5
(1) 108.272 (2) 109.272 (3) 112.272 (4) 107.272
3. 23925+ 7+44 + 1878 + 2409 =7
(1) 128263 (2) 28365 (3) 29263 (4) None of these

4- 10+35§—?=12—22
5 10

(4) 25260

3

7 1 3
@) 36E 2) 365 3) 36§ @) 36E

5. 9.9 +9.99 +9.999 + 9.9999 + 9.99999
(1) 49.88889 (2) 48.88889 (3) 48.78889 (4) 47.8889

6. 80—123—103—13352
8 10 12
1 5 23 5
)44 Q) 4 (3) 432 (4) 43>
mul @ul OB @e
7. 4309.8 — 2989 + 3000 —-4173.8=7
() 147 2)177 (3)127 (4)277
8. 731—293—201+262=?
8 4 8 10
1 3 2 4
1) 49— (2) 492 (3) 492 (4) 492
() 91 @) 492 @) 497 @ ]
9. 23409 + 78012 + 12479 — 88607 = ?
(1)28293  (2)26293 (3)24293  (4) 25293
10. 29§+762—4i=102l
5 ? 10 5
(1)20(2) 15(3) 10 (4) 12
‘?
11. 25;-{-26%—48:31
15 5 15
H4 21 3)7 4)13
12. 5848 — 2346+ 6779 -4048 -2=0
(1) 6433 (2) 6133 (3) 6333 (4) 6233
3. 102-2-8 07 53,
4 9 12 4
13 1 5 1
HNI8— 2)97— @B) 95— @) 96—
(1 36 (2) 36 (3) 36 (4) 36

14.  483.993 -0.143+29.2-109.84 =7

(1)403.21 (2)413.21 (3)423.21 (4)412.21
15. 3i—4£+20+301=?

7 14 4

19 19 19 19

1) 48— (2) 48— (3) 49— (4) 50—

6] 29 2 35 3) 28() 42
16. 1248 —2349 — 7 =9836 — 9879

(1)1048  (2) 1068  (3) 1158  (4) None of these
17. 6009 +? —4284 = 4923 + 5284

(1)8582  (2)8682 (3)8182 (4)8482

18.  1.4829 —1.009 + 1.48292 — 0.483 =2
(1) 1.58382 (2) 1.48382 (3) 1.47382 (4) 1.46382
19.  78+9243 +2 + 18987 + 487 = 2
(1)26897 (2)27797 (3)28797 (4)26697
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(Addition And Subtraction)

20.

21.

22.

23.

24.

25.

26.

27.

28.

29.

30.

31.

S ot jp-10-2
18 9 3

17 16 13
W17 @152 O)1s
6098 — ?— 1234 — 4609 = — 4899
(1)5354  (2)5254  (3)5154 (4)5554
9 = 4248 + 5555 + 6666 + 7777 + 8888

(1)33134  (2)34134 (3)32134 (4)311.34

(4) None of these

492l+1248z—23i—3l =?
2 5 10 4

9 9 7 7
1) 1714— (2) 1715— (3) 1715— (4) 1712—
W 20() 20() 20() 12

4§+13l+2§—20:0
2 4 5
(1) 40 (2) 20 (3) 16 (4) 22
100-291 —302 -2 3 _9

8 4 8 4

2 3 3 3
1)39= (2)38= (3)36= (4) 37>
(D 2 (2) 2 3) g (4) 2
9999 + 2222 — ? =3333 + 4444
(1)4454  (2)4534  (3)4444  (4) 4469

7387.45 +2929.29 + 3232.32 + 49 = 2
(1) 13598.06 (2) 14598.07
(3) 15598.06 (4) 12598.06

o
7;+6l+82—21:20
24 6 8 4

(1) 13 2)7

100-1--10-2-26>- =0
4 24

(3) 19 417

7 3

5 1
1) 652 @6 ()62 @) 60g

8686 + 8 + 86 + 868 + 86868 = ?
(1)96616  (2)96516 (3)97516 (4) 98516

2l+?+3§+i:20
8 8 4

@) 14% 2) 11% 3) 12% (4) None of these

Rule:

o (Multiplication)
1R fhaw +ff 3fd &1 IO BT R SHW 11 |

UM BT & A SHIE AP Al B Al forg < 2

D

91E SHIS b + GBS 3P 3R IAD 918 bS]

3 R T 3(bT BT, IR bl IS &1 dav & ar

SIS

3w A B N, TS b + <R AF AR

SHhTS
TE—
25 x 11 =275

3 BISHY TTS 3idh + Abel 3 T W W

42 x 11 =462

Three

ii.
1ii.

1v.

53 x11=583
69 x 11 =759
57 x 11 =627
75 x 11 =825
87 x 11 =957
76 x 11 =836
95 x 11 =1045
96 x 11 =1056
52 x11=572

Digit number x 11.
324 x 11 =3564
342 x 11 =3762
543 x 11 =5973
634 x 11 =6974
545 x 11 =5995
935 x 11 =10285
953 x 11 =10483
973 x 11 =10703
573 x 11 =6303
872 x 11 =9592
647 x 11 =7117

Al o

32
x 1
3 86
2 x 2 =4 Face to face
2x24+2x1=6 Crass multiply
2x3+2x0+2x1=8 corner to corner multi.
3 x1+3x0=3 corner x ten place

= 3864
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(Addition And Subtraction)

II. 532 x21

53
x 2
1 7

N = o

11

2x1=2
1x3+2x2=7
1x5+3x2=1 17399

2x54+1=11=11172
2,4,2,2
524
1. x 425

222700

Rule :— f&=il ¥ &A1 BT double nine, triple nine T
™ W1 nine | IOM HAT B AT SH G D
T fSITT nine B ST SIRT '0' o911 <31 3R
iy 9OH O 9 H&AT BT e o |
i, 3287 %999 =3283713
ii.  222x99
22200
222

21978
1. 43297 x 999

43297000
43297
43253703

iv. 5859 x 9999

58590000
5859
58584141

V. 43297%x999

43297000
43297
43253703

V1. 527834%x999

527834000

527834

527306166
25,5,1259 T[T A D M —

Rule (I) :— &0 Y @ &7 519 5 & IO HAT &
qI S G H TP ORI R 2 |

divide X 24 2 |
1. 34683521 x 5 = 220835210102 19605
2. 7428563485 x 5 = (428363480 _ 101 1h817425

Rule (II) :— {5 1 Hem & 519 25 UM &A1 &
a1 I ST H g7 OIRT a4’ W divide
PY T |

i, 7248563485 x 25 = 12i§§§¥E§99:181214087u5

foelt off d@m @1 w9 125 | o

BAT B Al 99 G PN A

SIRT 9arhx '8' ¥ divide BY <

i 32645 x 125 = 32645000

Rule (ITT) :—

=4080625

548768 x |25 = 548768000

2 IFdr A

(A) 19 FPIE T 3P ST W 0 I B R
TR T VBT B P WA T i

=68598500

—
48
Ex.d x 42 Ans. . 1. o9 9fshar =8 x2
2016
2. Ufhar =4 x5
TEE Bl TS Bl
=T 3Tl 0
(B) Bl | 19 FPhIs B Ab BT Sie- IR 0 377l
Bl AT TBE d Hbs & P AoAdR Th IeT
g9d 8h—
133
Ex.2 x137 Ans 1 9fshar =3x7=21
18221

2 UfhaT =13 x 14=182
(C) 3T 3P dTell AT 3 3fPI dTell FAT BT o1
BT Sl fd fAfdad A= & a9 8l—

Ex3 46 —_—4
> 50 —» T ff¥ad @
x 54— 4

=507 —(4)

Exd4 132 —_I8
>150 — U5 REa g
168

X +18

=2500-16=2484 Ans.
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P

(Addition And Subtraction)

D. 2 3d @ fedr W dww @1 e Hoon

EO g0 %0
\ \go
0
82
Ex.5 x 94 Ans.
7708

gfshar 1— SHlE HI IEl A& B MUF H IO
A IR AT T

UfshaT 2— THIS 3R TBS @ (b BT U § faRoT
IO PR &, SHb dre Al ol ufhar
# PIg DA B A I A Sred € S9a
oA B |

UfshaT 3—> T8I & QNI 3 B MIF H IOM B

g, Su® 91 afe fuwel ufthar & @i
DR B W SIS o © 9D a1 I
e foraa g1
Ex. 3 3@ @ [l | | &1 uw H Ion
PIAT—
247
Ex.6 x 356 Ans.
87932

_/zl//
e
a2
S
;14
o
ﬁl&
S
nl
(S)
o
Fr
(<)
o

IR 7@ «®
%/ %4—/%4 <+« x O-0Y

Feo
4

ﬁg—g 0«®

g

gfsrar 1— scmsEﬁcum AT BT ATAH H IO7
2 3R ThIE BT 3ib Wad B, gl DY
P oA B

gfhar 2— IPHIS T TBS @ 3P &I MU H foRsT
oM FRA 2| SEd qre ol ufhar @
afe A 8 A S Sied B, ShIS Bl b
TG B, DI DY PR oI B |

gfshdT 3— Al fded o1 Mo § foRST o HRd
91 SBIS BT b IGd & | dP DA B
a2

UfhaT 4—> AP 9 G8E ® b BT 0 H foRBT
TN HRd 2, IFb e fUwell HA B
SiIed &, S9d 918 SPhIs &l b & o,
T DY PR o 2 |

gfshar 5—> APbs & APl BT MU H IO PR &,
T fUwell ufthar &1 4 Sirsd &, 3R
T e fored 2
(F) 1019 120 dh & Rl &l oM H
'JI'U'”_
109
Ex.7 x 108 Ans.
11772
gfshaT 1- 09 x 08 BT JMIT H PR B 3R pad
23 B fored B |
gfshar 2- <H1 § 9 BN Te I B BASE 9910
2 O 99 fofTT BASE 109 &1 @l a1Tel
@M 108 H I8 <@d ¥, fb d8 100 A
faer Sarer ® R 109 H &9 Diff. 8 BT
Sired € ofR o1\ forg < €
102
Ex.8 x 103 Ans.
10506
OfhaT 1- 02 x 03 P 3MUE H UM HRd 2 3R
TUHS B 2 3T # forad F |
gfshar 2- TR Base 102 H 3Tl I&AT &I 3R 3
e < B
118
Ex.9 x 112 Ans
13216
gfehar 1- 18 x 12 &7 o H A B MR U
TGS BT 2 & H forad &) e @
S BN AT T
18x12=0)16
ha
ufshar 2- A fAafSU 118 &I Base 9= AT o1

T AT BT SR 12 foram &R a2

Pl STedY ToT@T STRATT |

Exercise for Practice
1. 403 x25+25x97=7
(1) 10050 (2) 12500
2. 144 x 220 =7
(1) 14 x4 x2x20
(2) 122 + (200 x 20)

(3) 12040  (4) 11080

H.O. : Park Road, Civil Lines, Near City Mall / (b)O. : Hariom Nagar, Near M P Inter College, Gkp. (9451518751) 5




(Addition And Subtraction)

10.

11.

12.

13.

14.

15.

16.

(3) (100 + 40 + 4) x 200 + 20
(4)4x(36) x4 x 11 x5
(21.57+4.12+10.31)x49 _

?

42
(1)405  (2)490  (3)410 (4) 420
142 % 42 = 28400
(1)40 (2)170  (3) 180  (4) None of these
125%12.5+12.5="2
(1)168.75 (2)150.5  (3)180.25  (4) 1170.65
5.50 x 5.5 (29 +31) = 2
(1)1805 (2)1815  (3)1825  (4) 1895
—144“;)4“36 = 576x54x0.72
| 2 | 5
(1) 3 (2) 15 3) 1g 4) 3
301 2

352 x42-+2 =9
77755

4 17 1
(1) 1505 (2) 1495 (3) 1482
150;23225 1350
()20 ()15 (3)8
68x73+73x38+12x73=2
(1)8714 (2)8614  (3) 8524

0.004 x 0.000016 x ? = 0.00000064
()20  (2)25 3) 12
14278 x 13— 13- 13 =2

(1) 185588 (2) 175538  (3) 109538
0.08x0.0009 = 0.16><0.0018><%

(1) 8 )3 (3)6
[64x10§j+(51x12ij:?

8 17
(1)1291  (2)1282  (3) 1264
18x24 _ &
03x0.8
(1)324  (2)361 (3) 289

6§><4869—4785><6§=?
7 7

(1)560  (2) 540 (3) 580

2
4) 1510=
4) 5

4) 10
(4) 8534
4) 10

(4) 195538

(4)4
(4) 1298

(4) 225

(4) 600

17.

18.

19.

20.

21.

22.

23.

24.

25.

26.

27.

28.

29.

30.

262><39l +4998 =7
13 2

3 3 3 9
1) 6413— (2) 5863— (3) 5560— (4) 6052—
(M 26 @ 26 & 26 @

26
990><9Z+ Zxﬁ =7
5 5 35

(1) 10296.80
(3) 10380.40

(2) 10086.50
(4) 10780.60

3 A ) 976x—L ~380
26

13 J?
(14 2)9 (3) 16 (4) 25
343x(49)* x L,

16807

(1) 49 2)7 (3) 343 @1
0.008 x 7=0.4 x 0.01
(1)0.20 (2)0.10 (3)0.6 (4) None of these
11><6942><i =?

3 16
(1)572 (2) 568 (3) 588 (4) None of these
4l><43+83><4l—4l><7 =7

7 7 7
(1) 493 (2) 483 (3)473 (4) 503

5 42 33
‘7 —_— X — X — =
6 55 28
2 2 2 2

H&= (2)10= 3)12= 4) 9=
) 3 2 3 A3) 3 “4) 3
4225><L2><l =7

13y s

(18 2)7 3)6 (4) None of these
0.4 x 0.04 x 0.004 x 40000 = ?
(1)2.56  (2)25.6 (3) 0.256 (4) 256
78 x 1234 =72
(1)99252 (2)94252  (3)97252  (4) 96252
48x3.80 = 0—?2

(H1+908 (2)1+910 (3)1+912 (4)1+966
945 26 0.04

 X—%x3.6=——

21 1170 ?

1 1 1 1
H— 2 — 3) — 4) —
D35 @i 3 100 @ 70
0.007 x ? x 0.07 = 0.0007 x 0.7

(1)0.01 (2)10 (3) 100 (4) None of these
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(Addition And Subtraction)

HHT (Division)

HISY (Dividend):— I8 AT g fol Fwam &4 T
fogr SIaT 2, 98 EAT WISy hEdldl &, oe—119 = 13
¥ 119 YTST HEARAT |

HISI® (Divisor):— d8 v RNd gRT fhd dvar #
a7 f&gT S1dr € | 98 SHBT YIoidh bl g |
W8— 119+13 ¥ 13 ¥olh HeoiAT |

HNTHE (Quotient):— ¥IST ¥ HISTh A UTHhel o IR
ST GRAT Solve B8 & a1 37 8 | I8 SHBT HFTH
HEATRIT | SI— 240+ 15=16 T 16 YTl BB |

3IY (Remainder):— 45T P 8 S HI9Id A Divide
BT B 3R AT wY T O G 99 W © 98

SIBT Y HEA! 2 |

S — 97+ 12 =8 YITHS + 1 IUHS

faATSadaT B 919 (Test Of Divisibility)—

29— 9 9 ded 2 9 gl fofra g | R
3T H 0,2,4,6,8 3MA| O — 20, 52, 34, 56, 98 AN |
38— e & T T=RN B BT BT AN 3 A
R—YRT 17T 81 o 98 91 3 9 R—g1 frford
AT | OI— 23484, 3 9 fawforg erft, wifs 2+ 3 + 4
+8+4=215 39 faurford 21

49 — R < g HAr & Sifd |l 3 4 9 i
TSt &1 SRl 3T S1f~aw a1 i g 8l Al 98 |l
49 -7 frfa gl

SIRI— 6432, 42500, 8784, 8784.......... EUE

59 — afe fod Avar § sh1s & WIH TR 0 AT 5 8
a1 98 \wr 5 goia: foafra gl

SIA— 780, 3995, 45585......... B

6 9 — Ife foft ¥=am & 3 2 91 3 < A
i 1 o1 a8 | 69 Yol farioa g |

SRI— 27102, 57960........... T |

798 — dls G 79 ol foafa geft, o se s
SHE B 3id el WA BN G AT qAT I
HEIRIT BT <R 0 8 AT 7 BT T & |

SRI— 665H — 66— (5 x2)=56
854 W — 85— (4x2)=7T.couo.... SIS |

8 9 — Afe &1 g d&m & aifvaw A9 3id a1 ar o
B A1 8 W goui: i & o ot dwer 8 | gofa:
frmfora gt

SII— 3456512, 6789432, 5632544......... T |

9 H:— AT QA T AT & APl BT IR 9 F YoUIk:
fofora 81 a1 a8 0 wvem 9 9 yoid: i erfY |
SNI— 57,9321, 40752......... TS |

1198 — I & TS I & |qH WA arel Dl qAq
fa99 1 aTel 3Pl & ARTHS BT SR 0 AT 11 IO
g 1 98 | 119 goia: fafa gl

SI—A —> 286542
(1) faus w1 aTet Sfhl BT AT =2+ 6+4+3 =15
(2) 9 AT} dTel 3fhl BT AT =8 +5+2=15
15-15=0
SR 119 ffra @R
B —> 217382
(1) favH AT Tl 3BT BT ANT =2+ 7 +8=17
(2) F9 ATl dTel 3D BT AN =1+3+2=6
17-6=11

=T 11 9 90 ke A fford gl |
12@ g A& S 4 dor 3 <M 9 fawifsa & o 98 e
12 9 98 e & fawifora grnft

ST — 1728, 2244, 20836........... g |

14 9 — 98 G=g1 W 2 dor 7 <1 9 fawfed 8 g
@ 14 9 ol faifora &R

ST — 196, 1232, 2749, oo e |
1
Ex.1 3—+3+3
8
Sol. E+ ! +3:1+i+9
3 8x3 24
:10L Ans.
24
1
Ex.2 64—=4+11
4
Sol. ﬁ+ I +11
4 4x4
1 1
=16+—+11=27— Ans.
16 16
2
Ex.3 1848—=+22
11
Sol. 1848 2
22 11x22
:84+L:84L Ans.
121 121
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(Addition And Subtraction)

el AT G Bl fdl T 9 9T < =—

1203 :8
479

Ex.1

Sol. 120><2+§><2
8 4 8

—135+2 —1352]
32 32

16i+z
55

Sol. 16—+—x—
2 2

=40+2
=42 Ans.

Ans.

Exercise For Practical

1. 8800+022+22="7
(1) 41022 (2) 40202
2. 2100+?+84 =1

(1)28 (2) 25
4 8
3. 36x72+0=—+—
5 10
(1)2572  (2) 2452

4. (3892 +4678)+40="2
(1)225.75 (2)220.65

(3) 40022  (4) 401022
(3) 24 (4)22
(3)2592  (4)2472

(3)214.25 (4)218.45

5. (14400 = 32) = (350 = 14)=?

(D) 16 (2) 27
6. 222222 +220="7?

(1) 1001 (2) 1010.5
7. ﬂ+§:73+?

21 7

(1)343  (2)49
8. 49+7=?><E

9

15 ()4
o @6+04&+2oz?

(76 +3.8)+2

(H10  (2)20
10, 97.5+1.5:?

20-19.5

(1)120  (2) 150

(3) 24 (4)18
(3)3011  (4) None of these
(3)7 “4)
()75 (445
(3)15  (4) None of these
(3)130  (4) 140

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

24.

25.

2 1 1
52:4-44—=9

5 2 2

1 7 3 2

5= (2)5— 3) 52 4) 5=
(D 5 2) 0 3) s “4) s
42.48 + 0.004248 = 2
(1) 10000 (2) 1000 (3) 10 (4) 100000
?

48 3) (35 7
()64  (2)128 (3) 1024 (4) 864
380,19 1o
472 " 9
(1)236  (2)246 (3)266  (4) 286
2304 +96=576+2="7
(16 ()12 (3) 21 ) 12
?2+4+8=1024+32
()32 (2)96 (3) 64 (4) 1024
(26 x39)+ 13 x 13 =2
(1)1014 (2)1012  (3)1024  (4) 1032
§x£x£:56
4572 5

205 135 245 199
) = @) =2 3) 22 @) =2
()78 ()56 ()72 ()23
2.2><4.2=%><49><0.2

35 41 41 35
)22 () = 3) = 4) 22
()33 ()33 ()32 ()20
560x+/? +3.6 = 2800x3
(1)2936  (2)2926  (3)2916  (4) 3025
44 28 14 1
—X—X—+—=
4972 11 2
(1)80  (2)64 (3) 68 (4) 75

8.4+2.1 =%+4+0.02

(1)25+8 (2)20+9  (3)25+9 (4)40=3

896 +0.7+7=0.05+5
(1) 118000 (2) 12000 (3) 128000 (4) 124000

(180 = 0.12) + (324 + 1.8+ 0.2) = ?

3 3 5 4
(1) 2 (2) 3 3) 3 “4) 3
(29 x 431 —29 x 31) + 58 =2
(1)200  (2)225 (3)250  (4) 300
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P

(Addition And Subtraction)

N

a7 (Square)
11919 —

Rule : —Unit place T Square ®&d &, b
Y number H Unit place numbersiis < 2 |

(11)? = 121

(12)2 = 144

(13)2 = 169

(149% = 196

(15 = 225

(16)> = 256

(17 = 289

(18)2 = 324

(19 = 361

(20)* = 400

(11> = 1,11+1=12=121
(12 =4,12+2=14=144
213129

Rule : —Unit place &T Square &d &, fhx

Unit place x 10 place x power @d % |
3WRUnit place ®T Square &=4 WR 2 digit
number 8 dr carry M Sred 21 S ten
place &1 Square@xd 2 |

Q12 = 441
(22) = 484
(23)2 = 529
Q4?2 = 576
(25)2 = 525
(26)2 = 676
Q7 = 729
(28)2 = 784
(29)2 = 841
(30> = 900
(17 = 1, 2x1x2=4, 2> =4 =441

(20 = 4, 2x2x2=8,22=4=484

19 Unit place TR 5 81—

Rule : 1@ Unit place WX 5 & Al 5 &I
Square HRA & 3R fHR ten place W S
AT B SEH | T 9T S Multiply
IRd T |

(152 = 225

>

(25 = 625
(352 = 1225
(452 = 2025 (57=25,1x2=2 = 225
(552 = 3025 (52=25,2x3=6 = 625
(65 = 4225
(752 = 5625
(852 = 7225
(952 = 9025

(105)*= 11025
(125)*= 15625
(115)*= 13225
Less than 50.

Rule : =50 & & 3BT BT square HT & foIv
50 9 RIaT &9 8 SH&T square HRA & AR
fR 9T HH B ST TSTHY IHBT AT BN

qd E

(Square P TR unit place 3FR Unit digit &1 & T
SHD 3T Th SR A & 1)

5.

(497 = 2401

(487 = 2304 | o 50 9 w aer it
47y = 2209 | & Square W R UM
(46> = 2116 | &gy & amy o &1 sl
(45 = 2025 | @y & o9 § &R
(44 = 1936 | 9a# e < 2|

(437 = 1849

427 = 1764

(@1)* = 1681 | (54 49)— (1) 4;

(40> = 1600 | (49_1)=48/2=24 = 2401
(397 = 1521 | (50-48)= (2)=4,

(38 = 1444 | (48-2)=46/6=23 = 2304

(377 = 1369

(360 = 1296

(357 = 1225

(347 = 1156

(33 = 1089

(327 = 1024

(31> = 961

More than 50.

Rule : — S19 50 | TG 3Pl BT square B & dI50 A

Wmﬁmsquaremgw
Square HR TR 3fd 1 digit # 3T @ ten place
W0 SR R 50 9 e o @
ST SIlghX SHDT AT bR ?@f %|

H.O. : Park Road, Civil Lines, Near City Mall / (b)O. : Hariom Nagar, Near M P Inter College, Gkp. (9451518751) 9




P

(Addition And Subtraction)

(517 = 2601
(522 = 2704
(532 = 2809
(547 = 2916
(552 = 3025
(56 = 3136
(572 = 3249
(58 = 3364
(592 = 3481
(602 = 3600

(50 +1)=5(1)>= 01, (51 +1)= % =26=2601

(50+2)=52)*= 04,(50+2)= 5 =27=2704
6. 71479
Rule : — unit place &7 sqare ®<d & Y unit

place x ten place x power 3R SHD IS ten
place ®T square Fd & | (S AT FodT B IAD

3T Gﬁ@ﬁ S 2 )
(71) 5041
(722 = 5184
(73> = 5329
(742 = 5476
(75 = 5625
(76> = 5776
(77* = 5929
(78> = 6084
(792 = 6241
(80> = 6400
SR —(71)? =(1)2=1
=7x1x2=14

72+ 1=50 =5041
(72 =2 =4

= Tx2x2=28

72+2=51 = 5184
7. Less than 100.

Rule : — 1004 TG % 8 I BT Square TR
<, 3R unit place '1' digit &1 & T ten place
TR 0" oI S ISP 9 100 & AT B9 ®
I9 b | I TP forg < |

(992 = 9801
(982 = 9604
(9772 = 9409
(96 = 9216

(952 = 9025
(942 = 8836
(932 = 8649
(922 = 8464
(912 = 8281
(90 = 8100
(892 = 7921
(882 = 7744
(872 = 7569
(86 = 7396
(852 = 7225
(842 = 7056
(832 = 6889
(822 = 6724
(812 = 6561

(100 —99) = (1)? = 1, 99-1=98= 9801
(100-98) = (2)2 = 4, 98 — 2 = 96, 9604

8.

More than 100.

Rule : — 100 9 a1 a1f¥@ gmm Iawt &1
Square ®R <, RraAr orfdrd W A= 100 H
SedR fomei T | (3R square B WX unit digit
B I T88 & ¥ITF W 0 o <3 |

(101)% = 10201
(100 + 1) = 101
(102)? = 10404
(103)2 = 10609
(104)2 = 10816
................ (112)? = 12544,

=(1)2, 101 + 1 =102 = 10201

a“fﬂa (Square Root)
bl I=T BT T8 Factor Sl Uh Silg & ®©T |

g, S T FEd B | o

X =yxy
x=yxy

X=Yy

SWRIFT Solution H y, x & U a7 qcl =l

H.O. : Park Road, Civil Lines, Near City Mall / (b)O. : Hariom Nagar, Near M P Inter College, Gkp. (9451518751) 10




P

(Addition And Subtraction)

T e @) fafr

ere @ ol 9ew U8l 85 sdhIs © 3B
qret 3l B WA BIAT &, O — 1,4, 5, 6, 9
9€ 98 <Al BT § b fhae—fedas o #
P W W 1,4,6,9 A7 2 |

(1y 2y
5 45
1<92=8|1| <82 = o[4]

GRS
TR 3T

BN
EEaH

4y'=1[d

6<62 =3[

Ex. /1156 &1 A9 Fa1fely |

Sol. \/1156’/}

(357 =1225

36 IS = 34 Ans.

Note:— T FdTad T70 Fe9 Ugel S W+ | 2
P! BN SISl IR SFD 91§ 56 H SHIE B (D
JFAT 6 BT AT & [HABI— [HABT I HRA R 6
AMET &I TP 4,6 & T § 3PS & WH W 4, 6
T g 2| 3@ TEE B W W 3 IWd &, Fifd 3
PTG 11 W B G B T 39 UBR BH ol
dEmd 34 R 36 Mdem & v &89 gH "em @l
HEAT 35 BT @ MdhIed @ | ok Al FqA F=&T (35)°
= 1225 ¥ ®ICI 8, a 9 34 BFM &R Al 1225 9
ST BT AT 36 BN

Note : 39 fAfYf ¥ ®ad Yol o AT BT & IHA

Farer ST d&ar | afe gof o dwr =20 &1 dr

QAT T [oEvs Al a1 9T & 9 sma e
|

- (Cube) — fHHl W &7 99 S &1 | 39U
# T IR IO FRA W U O BT B ET
PET B O — xxxxXx=x3

Formula:—

o)
oG
(-3

(TUY' =T’ | 3T'U | 3TV | U’

l
A

P DY

Rule :

Cube :—

10.

gAHA(Cube Root)

Unit Place Cube Root'1 to 9'

13 =1 13 =1

23 = 8 23 = 8

3 =7 33 =27

$ =4 £ = 64

53 =5 53 = 125

6 = 6 6° = 216

73 =3 7 = 343

83 =2 8 = 512

93 =9 93 = 729
feir W1 3f® @1 cube root S & forw o
g frasr i &5 sid &1 cube & I

UgleEd & fdb unit place W S F%R & 98
1 9 PR 9 % & fdbdAD cube unit place T
AT & 3R fhR 3mT @7 Hwer f9a Cube
| BICI B S Ugel drell -+ 81T |

(18)} = 5832

8 @ cube @ unit place BT TR 2 B gAY
unit place TR 8 AT IR R g &1 a7
TR BISHY Ol F9R B8N 98 2 & cube I
BICT © $4fe1T '1' 81T |

11919

(11 = 1331
(12> = 1728
(13)) = 2197
(14} = 2744 8000 = (20)? = 8000
(15° = 3375
(16> = 4096
(17> = 4913
(183 = 5832
(19 = 6859
21929

(213 = 9261
(22)) = 10648
(23 = 12167

H.O. : Park Road, Civil Lines, Near City Mall / (b)O. : Hariom Nagar, Near M P Inter College, Gkp. (9451518751)
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(Addition And Subtraction)

(24> = 13824 (1) 64 (2)81 (3)49 (4) 100
(25)° = 15625 13.  41600+2.25 =2
(26 = 17576 27000 = (30)? (1) 26 % @) 25% (3) 27 % ) 28 %
(27 = 19683
(28 = 21952 o V2N 390
25 ?
(29 = 24389 '
Cube Root (1)500 (2)450 (3)530 (4) None of these
u —

2 .8
o 12167 15. ]/4§+2§+4=?

s 10 10 7 7
e 36859 D — (2) — (€) 4) -
e 3 9 3 5
1 1
Exercise for Practice -1V 16. {(«/gﬁ x(\/g )3}22 =?
1. (31572— (215 . 1 | .
(1) 524550 (2) 52000  (3) 53000  (4) 54000 M @7 3) 5 @
2. (43— (23— (3)p=?
17. 31/1—£ 2
() 1173 @) 1421  (3) 1311 (4) 1331 343

3. (36)+ 2= 4692 1209
(1)2187  (2)2217  (3)2097  (4)2177

A [289x12.1x36 _, 18. 19ﬁ+219:340x§+364
144100 (1)100  (2) 121 (3) 149 (4) 81

4 5 6
(1 7 (@) 5 3) 7 4)1

(1)9.25  (2)935  (3)875  (4)745 P .
5. 30.000216-0.02=2 1 ( 77289)2 =7

(1)0.02  (2)0.06  (3)0.04 (4) 0.08 (1)278 (2) 268 (3)272 (4) 262
6. (44)+42+2=132 48-++/49 +25 25

(169 (2144  (3)121 (@8l 20. i —Ja1 =7
7. (45) x(25) +9* —2=8438 (1)26 ()25 (3) 29 (4) 23

(1)7249  (2)7219  (3)7117  (4) 7187 ' ' i
N 0225 [0289 _, 21. [sz +(fj4 =(fj'

10 490 3 3 3
43 43 39 51 (1) 1 ) 1 3) 1 4) 1

D 000 @ 12000 @ 12000 @ 14000 4 3 2 6

9. 1_% =% 22, J¥/0.004096 SRTER &—
?
(1)36 (2100  (3)49  (4)None of these ()4 ()04 (3)0.04 (4)0.004
16 9

10. == 23, IR p=999 &, a1 Yplp?+3p+3)+1 BT AT 2

J4096 7 b PSP

(1) 1296 (2) 961 (3) 1024 (4) 1089 (1) 1000 (2) 999 (3)998 (4) 1002
1. \/424+\/271+\/@ =7 24, \/21+§/§+\/16+i/7§+\/5 BT AF B

26 @24 (322 (4)21 (1) 4 )5 3)6 )8
L 144 J4sa V2005 25. 310648 x3/5832 =2

J256 44 2

(1)396  (2)216 (3)432  (4) 576
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(Addition And Subtraction)

26. \/Xfly.\/yflzz.\/zflxz? ;i—:;zxzzxyx SIS X2 ST
M1 @Qxyz @) Joz @ 1 216 x 5% =4 zeroes. Ans
xyz vi. I x3x5x7x9x 11 x13x= ... %25
. . . in how many zeroes.
gl (Simplification) =10' zeroes,
I X2%3X4%5%6X oo %100 in how | Rulesi— odd number faW% ¥ F v 1 g e
many zeroes. Sl zn%’ 5 ﬁm—’ﬁ IR A1 MY TS odd
51100 number ¥ 2 & 3T |
51 20 20 + 4 = 24 Zeroes. Vii. 2x4x6x8x10x12x% ......... x100 in how
T4 many zeroes ?
X X X X X X X X X X X
Rule:~ 9 d¥8 & numbers dTel questions ¥ o H >2<501 Rt & Wi W » el
St AT = g =g 98 5 ¥ divisible B AT D(1X2X3x4X5%. ..., x50)
5 9 divisible T & 89 5 ¥ divide BRI &
3R Y HU & number BT ‘Eﬁ@‘cﬁ rest Bl 3130
S <d | e @ 91 i i MR 5170 10+2=123
IAT Zero (answer) BFT| (Remainder WX 2
AT el < 2 ) Vi, 2x4x6x8x 10X 12 % ... %100 in
i 1 X2X3X3X4X5X6X%, .......... x 500 in v Doy 2ol
1;0“;5183113’ ZEroes. 2X4X6x8Xx10X12x .......... x100/2=50
ol Bt 5150
> 1% =100 + 20 + 4 = 124 Zeroes. D 10+2= 12 33 &7 |
2120 2
4 Rule: oTd even number continue 3Tl SITU Td last
11. I X2x3x4%x ... x 200 in how many number BT 2 ¥ divide®dw T R o
Z€erocs. numbers¥y 59 divide B |
> | 200 i. 2x4x6x8x10%......... %200 in how many
ER ) 40 + 8 + 1 =49 Zeroes. Zerocs.
51 8 51100
T 200 o
1 — =100 5120 20+ 4 =24 zeroes.
iii. I x2x3x4x5x ... x1000 in how 2 2] 4
many zeroes. Q. 108 W2 1003[0TS &1 YOI &+ W right¥
5 [1000 faeT zerogRTT?
5] 200 10 x 20 x 30 x 40 x 50 %........ %1000
5| 40 200 +40 + 8 + 1 =249 Zeroes. 10x1 x 10%x2 x 10x3 x 10x4 x........ 10x1000
5| g 10100 (1 x 2 x x3x4x5x ... x100)
T 5 [100
v, 1x2x3x4x5x ... x 19 5120 100 +20 +4 = 124 zero.
5119 21 4
NE} =3 Zeroes. Rule: 39 @& & question § 10 & powerdl
) . common & & 3R 100 &I 5 | IO F <
Rule: 39 TRE D question #H RraT 97 2 3RS e =
g DI A3 R of wilfh fsdr off
nultiplication # '0' 3™ &T Th AH HRUT 2
AR 5 B2 AR 5 F pas T A
Bl 98 9P answer BT |
v. 6x8x12x10x15 x20x16%x5x%x6x12
in how many zeroes ?
2! %33 x 23 x 22 x 3x 21 x 51 x 3x 51 x 22 x 5
x 24 x5 x21x3x22x3
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(Addition And Subtraction)

(Unit Place)

2 BT power BB A1 2 Unit Place TR BHIM 2,
4,6, 8 31U |

2

2

4

2

8

2

6

2

2

2

4

2

8

2

6

2 &T power 3R 4 &T multiple ¥ @I unit place
UR EHEIT 6 JATYT |

2=6, 28=6, 20%°=6,2%=6,2%=6

26=6, 2%=622=6, 2%=6

2% power ®I remainder 3FR 1, 2, 3 dodl g
ar unit place WX WL 2, 4, 8 3T |

241:21:2 2843:23:8
242:22:4 2578:22:4
243:23:8 2313:21:2
2%5=2=38

28=22=4 i~ 2 & power a8 BB AT &
297=21=2 I 49 divided HT

25148 @I unit place TR T ARTT?
22x20=4x1=4

3 & power o Wl & 3R I8 4 BT multipled
Al unit place TR EHIT 18R |

¥=1, 3%=1, 3¥=1, 3¥=1, 3%=]
332 — 1, 324: 1’ 336: 1, 312: 1328: 1
3

3

9

3

7

3

1

3

3

9

3

7

3

1

Ex.

Ex.:

3 @ power 3R 4 BT multiple & & ar <
Y FIT T&I SABT powers T |

341:31:3 3575:33:7
342:32:9 3415:33:7
343:33:7 3131:33:7
3M=30=1 3¥5=33=7
3¥=_32=9 3%=32=9
3%=31=9 32=32=9
3%8=32=9 374=32=9
3$=33=7
4 - O
4 = 4% (4 DT power 3R
6 - © even number BN o
4 unit place IR 6 3T |
4 - B
4 i— 4°4 (4 BT power 3R odd
6 - ® number T T unit place
4 TR 4 31T |
4 - ®
4
6 - ®
4 - ©@

4785 = 4 495: 4

4986 = 6 496: 6

45 =4 4% = 4

42 =6 4%= 6
5]’1
6" = 39 99 & unit place U} RN
1» = some number 3T |
On —

6’=6, 52=5, 1°=1, 0°=0
7
4
7
9
7
3 - 7?b"rpower2§8°ﬁﬁeﬂ1'l?a%’4
7 ¥ divisible & AT S9d unit place
1 R BN 1 BT |
% Ex. 74=1, 7=1, 72 =1, 7% =1,

48 _

7 7 1
9 — 3R 4 9 divisible I & I I
7 Y GO B unit place TR
3 SITUATT |
7 Ex. 7M1 =7'=7 78 =7"=3
1 742:72:9 7568:72:9
7 7%=72=9 7H3=7"=3
7 7T=7"=17 78 =7"=3
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(Addition And Subtraction)

Rule: — 8 &I power 3R 4 ¥ Hed dTell & T unit
place TR BT 6 ST |
T— 8*=6, 88 =6, 8%=6, 82=6, 8°=6
8100 — 6, 8% — 6, 812 — 6, 8108 — 6, 888 =6
T— 8 BT power 3R 4 ¥ He drell 9 & ar S
RemainderseiTT S 8 & powerd? il fh
ST unit place TR 3MUIT I answer BT |
- g4 =81=8, 87=8=8, 8?=8=4
851 — 83_ 2 843 83_ 82 854_ 82 —
1. 22— >8
i QRI—YRT &< AT Bl unit place IR 6 T |
ii. 4 9 divide oXd § I AT G g DI
power & STRATT |
2. 3—, —
i 4 9T S R - HE S dl unit
place TR 1 3R |
ii. 4 9N Sd & S YUY 99dT § 98 APl
power & SITUAT |
even
6
=
4 5:-5'=5
odd 6'=06
I'=1
even 0'=0
1
N
9
odd
(i) (376)% x (562)% (789)° SHIE WM W &I
3MqTT?

6 x 2x 9 =108 ShTs I TR 8 3T |
(ii) (793)°7 x (576)% x (974)
3x6x4="72
ghls AT YR 2 37U |
(976)% x (759)5 x (785)68
6x9x5=270
hTs AT UR '0'STTUT |
unit place IR P even number 3R TH 5 I 3R

98 multiply & ®T # B AT unit place T gHM 0’
BT |

(iii)

(Arthmetic Progressions)

1 1 1 1 1 1 1
—t—t—t—+—+—+
6 12 20 30 42 56 72

Rule:~ denominator &T U Fﬁ@ﬁ 2 S 1 number &7
R B RO™IH BIeT &I Ugel 3R &sT &l
9 § IGd § | 9D 918 19D smallest § A
last T largest €T <d & |
R U S S S 00 IO 8
6 12 20 30 42 56 72
111 L1
2 3 6 8 2 72
11 _9-2 7
2 9 18 18
S LU B L O B P I
6 12 20 30 42 56 72 90 110
1 1 1 1
2 3 10 11
1

[ __NQLl-2 Ny
2 11 22 22
3. 1t TesT g1l 9 & I S as it is BIS I |

STEl | el © 98] ¥ BIel dIell ofd & |
4 trrrrr 1

11°2 6 12 20 30 42 56 72 90 110

111 1 11

_+___:_:1 —

111 11 1 10 11

Rule for Exam :—fSTd+ &7 3R 8 I9® lib?ﬁ =
n

st L L Sy L4 2
213 15) 2045 2715715

5, L, 1 1 1 1 1

11
35 57 79 T 1113 13.05 1517 17.19 1921
1oa] af27-7] 16 1,

213 21] 2 2721 7
1 1 1 1 1

6. —t—+— + +
25 58 811 1114 1417 1720 2029
11 1] 1f23-2]_1 21_7

- —Xx— =— Ans.
302 29| 3| 46 | 3 46 46

7 3 N 5 N 7 39

) G Sagr T T e
LR S S
12 20> 1 400

_400-1 _399
400 400
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(Addition And Subtraction)

—

Ay
N )

| &

I#“

[\
S

Rule : —

Rule : —

il.

||

X
@Im

.’J; \IIO'\

U}l»—a

(Number of divisor)
Wpowerﬁ?ﬂﬁﬁ 1\‘rﬁ3ﬁﬁ
number of divison e SITTT |

=23=8
3+1=4

[l Bl g
—ToleTe

21x 31
1+1x1+1=4

-1,2,3,6

Number &T Powerfoiadr 3 S99 4 1
S |

8-1,2,4,8

23+1 :24

2" 15

=—=15
2-1 1

6:-1,2,3,6

21+1 X31+1

=16-1=15

=22 x 3?

1+1 1+1
203 ol 38 s,
2—-1x3-1 1 2

36 BT sum of divison =T HIT?

22+1

—x
2-1

2+1
22 x3? 3 !

3-1

z><§—91 Ans.
1 2

144=12 x 12
4x3x4x3
22x3x22x3

2,4,6,8,10, 12, 14, 16, 18,
Rule :

Rule :

24+1_ 1 % 32+1 -1

31 26

2—-1x3-1 = _x—— =403 Ans.
1 2

256 @ divison BT INT T BIIT?
16 x 16
24 x4 =
729 =
27%x27
33x3?
33+1_1
3-1

33+1 _lx
3-1

@x@ 1600A4ns
2 2

A.P (Arthmatic Progrcssmn)
IR EERECI Y

a = First term (Y219 U])

d = Common difference (FATT 3=<iX)
= last term (319 UR)

n = number term (T3I & FE)

ta = at+(n-1)d =t,=a+ (n-1)d
2,4,6,8,10,12, ............ find the 20" term.
to =2+ (20-1)2

=2+19x2

=2+ 38 =40 Ans.

19 table & ®T H B 3R number of term
T &7 Be dr foraqr diffeence 81 S9H
direct O &R < | AR first term SIS < |

3,6,9,12, ........... find the 20" term
3+(20-1)3
3+ 57=060 Ans.
2,5,8, 11,14, ...
toy=a+((n-1)d
2+(20-1)3
2+19x3
2+ 57=59 Ans.

..find the 20" term?

H.O. : Park Road, Civil Lines, Near City Mall / (b)O. : Hariom Nagar, Near M P Inter College, Gkp. (9451518751) 16




(Addition And Subtraction)

Rule:~ <19 number of term J®& @ last term @I first
term ¥ divide PR < & |

Q. 3,6,9,12, ....... 120 find the number of term?
@ =40" term.

Q. 2+4+6+8+10+12....... find the sum of
20" term?

S, =§(2a+(n71)d)

Sy = 2—20(2a +(20-1)2)

=10(4+19x2)
=10x42 =4204ns.

Q. 34+6+9+ 12+ ....... find the sum of 20™
terms?

S, =%(2a+(n—1)d)

=?(2><3+(20—1)3)

=10(6+19x3)
=10x63 =630 Ans.

g[a+a+(n—l)d]

n .
S, = 5 [a +1, ]usethe lastterm given.

n

Q. 1+2+3+4+5+ . ........ +n
S, =§[2a+(n—1)d]

:g[2><1+(n—1)1]

:%[2+n—1]
:g[n+1]
URH n HTepd AT HT AT = S”zn(nH)
Q. T 25 19l ST FT AT I PP
25(25+1) _2X26 o5 gus.
2 2
Q. Ho S0 WIdpel Rl 1 AT FAepr |
3031 _ 1295 ans.
Q. HoTH 100 I A BT I |

100101 _ 5050 s,

Q. UM 44 UTdrd WIS BT AN AT |

4445 _ 990 Ans.

G.P (Geomatory Progrcssion)

Rule :— 2"term &7 1 term 9 divide &9 R 5=
T & I & 39 term BT 2™ I divide
FRA TR I 8 T S G.P. FEd 2|
a = first term
r = common ratio
ty = last term
n = number of term
ty = ar™!
| r=2" term divide by 1* term |
Q. 24,6,8, .......... find the 8" term.
tg=2 x 281 =2 x 128 =256 Ans.
Q. 3,6,12,24, ........ find the 7" term.

ty=3 x 20D =3 x 26
=3 x64=192 Ans.
Q. 3,9,27........ find the 5"term
3 x36-D=3x34=3 x 81 =243 Ans.

Sum of n term:—

S - a!r"—l?

n

r—1
Q. 2,4,8,....... find the sum of 7™ term.
7-1 7-1
5, — 2L -1)_2x27 g
r—1 1
2x 64
2 X 127 =254 Ans.
Q. 3, 6,12, .....find the sum of 8" term.
8
308
2-1
3 x 255=765 Ans.
Q. 4,8,16, ........ find the sum of 6" term.

4(2671)_4><(6471)
2-1 1
- R r BT value 1(r < 1) A BT & 3R
3= d® ANT BTt & ar

=4x63=252A4ns.
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(Addition And Subtraction)

1-r

- 19 divide @1 multiply ¥ change &<d & df
Ig reverse &1 SITYIT |

Q. 1+ % + 2% + 2% +orernes find the sumof inf inite term?
' :;:—:ZAHS.
1
1——
2
Rule :- 19 Base same & 3R IO & w9 H &
power Vil$ qd € 3R Base common o ofd
gl
Q 21><leszsz 14 Xoeiii! ©
28 2% 2 2}
2
1 1 3
—9_ _93 _ 1.5
31 22 2 27 Ans
o B =
3
— 3R (r>1)R 19 9T & dl—
Q. 3+6+12+........... 00
= o0, Ans.

H.P (Harmanic Progrcssion)
— a,b,c,d,e....... are in H.P

— Wﬁ‘s‘numberH.Pﬁ%ﬂTT&ﬁ%ﬁW
BT B U SU Toel R oGd & | Socl
PR B 91C PR 98 APH & a1 HPH 8N |

AxH=

[ ]

HM
Harmatric mean
ax b, are in H.P

a+b>< 2ab
2 a+b
AxH=G?

G=vAxH

Formulas

(a+ b) = sum of two numbers

2°4°6
Reverse X T4 B | ab = Product of two numbers
2 4 8 a> + b> = sum of the square of the two
S— T,T,T ........ arein A.P numbers
ty=at+(n-1)d &9 rule A.P areT follow | | 1 ()  (atb)’=a’+b’+2ab
Q. l,l,l,l, ........ find the 40™ term. atb=12
2468
ab =35
1,
o ns. a?+b%=7?
(12)>=a>+b*+2x 35
144 =2a%>+b*>+ 70
a>+b’>=144-70=74 Ans.

AM GM (ii) sl &1 WuRll &I I 14 B| SHéT
Arthmatic mean Geomatric mean OHE 48 8 AT S ST & a BT INT
axbarein A.P axb,arein G.P T ENT?

a-x=b-x x b a+tb=14 (14> =a? + b>+2 x 48
2x=atb a x ab = 48 196 = a2 + b2 + 96
a+b 2
HJO. : Park Roa% Ciyil Lines, Near City-Mdll/ (b)O. : Hariom Nagar, Near M P Inter College, Gkp. (9451518751) 18
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1758 19BEs

(Addition And Subtraction)

196 — 96 = 100 a®+b*+c®—3abc =0
a’?+b>=100
a® + b® +c’=3abc
7. () (a—bp=a’+b>—2ab & e R
L - I H (a)® + (b)® + (c)® — 3abc IR

a— b = difference of two number ST 10" B1TT Ja + b + ¢ T A '0' BT ART
(i) a1 ARl B AR 5 T AT IHDT YUhA

368 A1 g7 G & Gl BT IRT T Rule - B b+ 3abe (asbec)
BIT? ves a’>+b*+c? —ab—bc—ca S\Towe
(a-b)*=(57
20° +30% +50% —3(20)30)(50)
ab=36 Q. 3 3 3
20 +307 +50% —(20)(30)30)(50)(50)(20)
(5)=a>+b>-2x36
25+72:a2+b2 20+ 30+ 50=100 Ans.
a’+b* =97 Ans. Rule:i~  (a+b)*=a’+b?+2ab
» MR {1 (a + b) 8 @ (a + b) B IIRAT 3R )
answer (a — b) 81T 3R FR? A (a — b) faar @ [XJF_J 2L
Tl (a—b) Hc ST 3R answer (a + b) BT | x x? x
(@N—a direct TISPR (a + b) AT TSTHR (a — b) 2L,
forg < 2)) X
, AR UES A1 o W N A Hewm a9 ¥ A N | jyle - sf =s
(a + b) T 3R IT TH a1l 3P A A B AT 32 =3
B g A A (a—b)® 24
26.58x26.58-23.42x23.42 _ > o _ (@sb)—(a—b) |
26.58-23.42 - 3R root DI square DT 8 O ¢ 8l I 2 |
=50.00 = 50 Ans. : .
. . Q Vr+—=1|=6 , x+==2
> QT A1 BT ART 60 B 3R SHBT 3R 20 2 Jx X
qr S el @ 9 BT AT T BT .
60 x 20 = 1200 [JZ+LJ: (J})z+(l] 2
Jx x
Q. a+b’=(a+b)(@—-ab+b?
1
18><18><18+12><12><12:(18+12)(182—18x12+122) (6)2=X+;+2
18x18 —18x12+12x12 182 x 18x 12 +122 36— = 34 Ans.

=18+ 12 =30 Ans. Rule :— (—4)* = 16 /@ &I &1 (-) § & a9 €

’ a:bd 9 H symbol (+) ¥ @ (a+b) 3R SHT square (+) BT, Fifdh square B TR
symbol (-) € dT (a—b) answer EITT | (-) () =+ B S|

—  a-b*—~(a—b)(a+ab+b?) Q. R
18x18x18—-12x12x12 _(18—12)(182+18><12+122) ? 5 . |
18x18+18x12+12x12 187 +18x12+12> 2= xr—=xtr 52
=18+12=30 Ans. =6 Ans. o x X

J5=5-2=3
— @ b+ BT answer BRI zero BT |
1
—  firstterm a + b + ¢ = 0 BN @ 2™ term 1 '0' Q x+;_4

BT |
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(Addition And Subtraction)

2
X +1:4 . 6x

X x“+8x+1
x2 +1=4x 6x —ﬁzlAns.

4x+8x 12x 2

81 x82x83 x84 x .......... %89 in how many zeroes.
20 2o S50

LSSJTQTHFﬁQZEzem?ﬂTaﬂTI

i, |50r51=5x4x3x2x1=1zero.

ii. |6or61=6x5x4x3x2x1=1 zero.
51100
L100=5] 20
|4
| 200
40

8
1

300
60
12
2

[ 15 %121 x[16 x|.26 in how many zeroes.

5 | 16 5 256
X | 3 X s 3+4+3+5+1=16 zero.
1

|38 x50 x | 100 in how many zeroes?

11i. 2044 =24 zero.

iv. | 200= 40+8+1=49 zero,

[ ]|

v.  [300= 60+12+2 =74 zero.

[

V1.

s|15 52l
137 |4

Vii.

38 50 51100
7 .,5/10,5]207+1+10+2+20+4=
2 4
44 zero.
viii.  [45x[55
5145 5|55
519,511 10 + 13 =23 zero.
1 2
ix. |84x[76
51|84 5176
5|16 17 19 + 20 = 39 zero.
3 3

Q. fo=ft 9= @1 60 | divide o TR Y 16
AT & MR AT IAT B 12 F AN < ar
Y T M7
12)16(1

Rule:

Rule.:

12

4 99 g

4
$9 TRE & question H Il UY FaAT gal

number BT & IFBT O I TR AT ol

g 9O divide®Rd €, 3R fhR ST A9 g &

I8 BHRT answer 817 |

fosft d=r @l 84 | 9T o9 WR 20 9 §TCT g,

T AT B 12 HRT o9 W Y /T B8RP

12)20(1
12

8

fHel T B 65 W WNT o« TR AN 30T © |
MR SO G=IT BT 13 W YT o9 R A9 |7
TP

13)30(21

26 4 99 g |

89T T |

fpdl WReam BT 84 W WRT 4 WR Y 20 gl
2| MR 99 U1 & 9 bl 12 F 9FT <9
AT RAT FIT?
(20)% = 400 12)400(33
22 49 qoTT|
36

4

g 51 FH AR BT AT ATl |
51 x 52 =2652

gord 51 fawq e=amsit &1 InT ST |
(51)2=2601

P+22+32+42+ 52+ ... n’
TR n’UT e ATl @ a1l Bl IRT
oo n(n+1)2(2n+1)=6

UH 10 Uidhd WA & aul BT AN A
BT

1AL 385ns.

UM 20 UTdd WS & i Bl ANT e |

2052131 _ ) e20.4ns.

2% IO & 20 UGl &1 INT +epTef |
20(20+1) =20 x 21 = 420
2% IOl & 20 Y&l BT AN Fepred |
20(20+1) =20 x 21 = 420

A9 @ UG @ 20 UGT BT AN S BN |

H.O. : Park Road, Civil Lines, Near City Mall / (b)O. : Hariom Nagar, Near M P Inter College, Gkp. (9451518751)
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(Addition And Subtraction)

Q. 2462+ 4 + 102

10x11x21 3 4x5x9
6 6
=385-30=355

Q. 6> +77+8+92+ ... +20?

20><27><417 S5x6x11
6 6
=2870—-55=2815

Rule :— Table & %9 ¥ R dI U8 common o ol
3R fY last number BT first ¥ divide B < |

Q. 224+ +62+8+10°+......... +142
2{@] =4x140 =560

Q. 224+ +62+8+ +20?
4(—10”6“21} =4x385=1540

Q. PP+32+52+7 ... + 11 solved it?
P+32+524+ 7+ 112 = 2+ 2+ 62+ 10?

(11><12><23]  2%(5x6x44)
6 6

506 — 220 = 286 natural numberdl™ &
folT S number ®©
I TeT e |
Q. IP4+32+5%+ ... + 152
124+32+52+ ... +152=-22+4%....... + 142
15x16x%x31 A 4xTx8x15
6 6

1240 — 560 = 680 Ans.

P+25+33+4+ . +n’
U n UIGidd AR & ol B AR

st

Q. UUH 10 WGP g9 AR & €= BT AN
et |
1010+1))* (10x11)’
( 2 )( 2 j
(55)> = 3025 Ans.
Q. UM 20 Uidhfde W™ b edl bl AN

Rule:

frepTed |
2
(20x21) =(210)? =441004ns.
Q B +6 ... +10°

1-

2 2

(55)2 — (6)> = 3025 — 36 = 2989

tn=a=(mn-1)d
Sn= g(2a+(n—1)d)

100, 150, 200, 250........ find the 20" term

to =100+ (20— 1) =50
100 + 19 x 50
100 + 950 = 1050

100, 150, 200, 250,
term AT BIIT?

Sng(2a+(n—1)d)

3 ?(2x100+(20—1)50)

= 10(200 + 19 x 50)
10(200 + 950)
10 x 1150 = 11500 Ans.

Teh Ifdd U8l HEM 100 S0 STHT HRal g |

I gJPd H1E H 50 w0 g7 <ar & dr 30 o

TN § fhaaT O STET BT |

ta=a+ (n—1)d = 100 + (30 — 1)50
=100+ 29 x 50
=100 + 1450

= 1550 %0 Ans.

U Afdd ggel e 100 F0 S HRal § I
JJP HIE 50 W0 9¢7 <ol & ol 30 Hel9 db
fopaeT T ST BN |

Sn :§(2a+(n—1)d)

= 3—20(2><29><50)

= 15(200 + 29 x 50)
= 15 x 1650 = 24750 Ans.

EXERCIES SIMPLICATION —I*
774 +73.96+8.6= 7
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1758 19BEs

(Addition And Subtraction)

(1)17.60  (2) 9 (3)86 () None | 150 3 2 0 3 e ey 2
2- 0.070.008 . ! , .
(1).056  (2) .0056 (3).00056 (4) .56000 7 @ Q7 @) whwEe
4 4
E I () () M 16- 8Loper =g fore 3 e
(2.3)* —0.69+0.09 53 R
25 1 3 5
(1)3.9 2) 39 (3)3445 (4) 50 = @5 O3 @ =
4. (@3P+027 17- 98 BE--918 T R @ & ¥ oS R 1@
(2.3)* —0.69+0.09 Iy fre=T w2 |
(1)2.6 )2  (3)2.33  (4) 2.27 (1)2 2)5 (3)8 ) 7
5. (06)+(05) 18- 123 i & % o waw et et ¥
(0.6 +(0.5) 2 71 > 7 5 . )
(1) 1.1 @) 01 @)1 (@) .11 13 @2 @5 @3
6- dsfe ggfay F 0.000005279 BT - 19- %éaﬁ-\rg ¥ P T TS T 2
7
1) 5279 x 1073 2) 52.79 x 1077
M @ (12 @2 @2 @ whwE e
(3)5.279 x 1076 (4) None 7 7 9
7- afk 4137+1.75=2364 a1 41.37+17.5 &1 W & | 20- f %% 3R % i AEY VIS A W g A=l
(1)23.64  (2) 2.364 (3) 2364 (4) 236.4 A\ = e
14 4 13 9
8- af 1.5x=0.04y, a [ﬁli] 1 W T O @O O @
730 7 7 21- fr=faRad # & o9 @ = g0l raRiET #H # §°
13’577 375
9- 0.575757.......... =9 3) 531 @) 513
57 N 3) 57 . 77573 773’5
Do @5 G5  DNe | @t et Ao ol 7w 3 22
10- 0.47777........=? (1) g%% @) %%%
477 477 437 43 8 10 9 9 10 8
D oe P10 Pie @5 S ST @ S
11- 0.63 +0.87=2 23- ﬁﬂﬂ%ﬂ?ﬁr N SHS W ¥ 75 31d B, A €
=1 [
(1) 1.01 (2) .101 (3)1.01 (4) 1.001 (1) 1800 (2) 9000 (3)900 (4) 2700
12- (0.4444......... % (0.6666.......) =2 24- fO™ g7 BT AT SHD W 500 AP F, AT T
( )% ( ) A
N n 8 3 4 g 8 (1)600  (2) 1200 (3) 1800 (4) 940
(1) (2) (3) 4)
20 27 9 9 25- By A= @1 WRT 96 B, O SS9 AT BT AN
13- 0.8+0.6+0.4= PATT BT
13 2) 18 (3)4 4) 2 (1) 144 (2) 256 (3) 108 (4) 490
14- 0.786 —0.123 +0.046 = ?
(1)0.739  (2) 0.829 (3)0.709 (4) 0.719
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P

(Addition And Subtraction)

26-

27-

28-

29-

30-

31-

32-

33-

34-

35-

fooell Q7 Pl B AT BT 9T S G=AT B 91T
8 AP T A SH Gl B Jb BT AR T
BITT?

()2 215 318 @9
%ﬁﬁwmmaﬁswﬁr—v{ BT 1YY
9 7 9 7
1) = 2) — - 4) —
()17 ()18 (3)34 ()34
60 BT YT, 80 & HIT & fbd=T &7 2|
(1) 15 212 (3)3 4) 20
f=ferRaa &r sraRIET w9 & falRgw:
336384 8 49384
H2,2,2,2,= ) =2 22=
()4’5’7’9’7 @) 11°7°9°9°7
54325 12345
3) =,—, === 4) -, = = = =
()7’9’7’56 @) 3°5°7°7°9
f=faRad &T oTRIEY Ha # foRau
8 2451 7 0 532
) =,2,2,2 .~ 2) —,—,>, 2=
()11’5’7’8’3 @) 11’11°9°8°7
324 51 136813
_____ 4y - 222 22
(3)7’5’11’17’4 “) 2°4°7°9°14

Wwﬁaﬁauﬁwm%wmaﬁ?w

URT U1 el BT B [y 31d 4T 8400 WO HIAT
FRA T | T DY Gl AR G BIFTT?

T e A g A A L sk ¥ Al e

DI H{T AA—7560 © Al Whd W TS(bAl Bl A

ST HIFTY?
Qzﬁ;\ﬁzb‘r% ANT U | WRT 8, 59 156 <iie} il

ﬁaﬂamwﬁﬁ%ﬁwﬁlﬁaﬁaﬁ
AT SITd DIfSTe?

WWMWW%WWW%W
WWW%WWWWW%HW

THA U 1456 W0 Y g9 & IADI fel Y A
BITY?

wmﬁaﬁmwéﬁmﬁw%ww
sﬁq%wwﬁaﬁqﬁmwwm%aﬁq

IS U 160 W0 gIAG © | ST foardi wR fhde
R G Y |

36-

37-

38-

39-

40-

41-

42-

43-

44-

45-

Wﬁm%ww%m1o4aﬂﬁqﬁsﬂﬁ

sﬁ?ﬂ—\fﬁm\—m—maﬁm% 9T ¥R ST 2 | Sl
P R AR $ foy fhast iex uril @ik qerm Si?
DI TRINT S 3R U & d19 g9 UbR dicl T,
Wﬁﬁwgmwﬁﬁﬁgmzﬁwé
ST BT 140 w0 el aret @l foha- e=RIfd o ggv
DS TR A IR B & §90 39 R qict T A
a%rﬁ?ﬂ% W,Baﬁﬁégﬂﬂwzﬁwél‘A’
BT 210 %0 el A1 B @1 fhae g=RIl’T uTe g 7?

Th AfK 4.50 ol DR W@RIedl & ol ao
4205 fHUT B oliex & BN &7 A= 3T HIT
e BT a9 10.5125 fHUT0 B |

eN, L Tl e R S S 4

WW%WWWIH&IﬁS4WOﬁW

AT ATl HA b= feio I H1?

30 TfTerd 3MIdR dHeldl am Y A BT 20 ufrerd
I T B P 91 AT 11200 WO M BT
g fear Siar g1 YEdE @l TR SR—eR B AR
ST PITg?

A U 3T BT 12,50 fhaEi R TAT Y 50 Hererd
WY PR 380 W0 gl & | fharl W fHadr ee=Rifdy
g P TP

84Eh‘r% 96, gﬁﬁo—ﬂwg?

W|§%€I‘%TWW%H@TW,% 1a far 59

JhR BMF gR1 UTd Ik 98l Sk I 300 HH of
wmw;—zﬁmm%ﬁm?

W|§%ﬂﬂwwﬁmw%§mml

39 UHR BE gRT U SR 8l Sk o 300 HH

m|wmaﬂ% fopar 87
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P

(Addition And Subtraction)

46-

47-

48-

49-

50-

51-

52.

53-

54-

55-

56-

57-

1-

TF e B Ao F i %aﬁgﬁgaﬁw@%ﬂ

IY¥ 2000 H IA9 12100 W0 AT IY 1998 H BT I
fopaar or?,

TR A H T 3R g R R A Pl HAIL: % SN

%%\*I g 2000 H AEX Pl SAGEEAT 84050 o | a9

1998 3R 1999 QM d¥ B KA SEET FA
BIRTC?

Teh 3fTeH! URHTE 320 W0 AU <F BT I HRaT
219 AIE & < H I8 UM & b SHS I G

< BT DA % P BT DB Bl <F AR
ST BIfTY?

(i o o) 2

Ho @1 @4 @3
1 1 1
S 1
p’ p° r
R
Mo @1 @) p™ (@)

9+ 16+25+36+........+ 100) = ?

(1)350 (2) 380 (3)400 (4) 420

(0.03f —(0.01>
(0.03-0.01)

(1) 0.02 (2) 0.004 (3)0.4 (4) 0.04

[(0.111)+(0.222)*—(0.333)+(0.333)? (0.222)]

BT TReflHd A B |

(1)0.999 (2) 0 (3)0.888 (4) 111

0.1x0.1x0.1+0.02x 0.02x 0.02

0.2x0.2x0.2+0.04x 0.04x0.04

(1)0.0125 (2) 0.125 (3)0.25 (4) 0.5

99922 999 T W 2—
999

(1) 990809 (2) 998996 (3) 999824 (4) 998999

7,777,717, 777+77 SRR &~

(1) 1111 (2) 101001 (3) 10101
(7.5) +1
(7.5F -6.5

(4) 1010101

IR T—

1)2.75 (2) % (3)4.75 (4)8.5

EXERCIES SIMPLICATION -I1"?

417.25-41.72-453="7

(2) 380.06  (b)371 (c)348

2-

(d) 315

() T & PIg el

(6+6+6+6)+6:?
4+4+4+4+4

3 4
(b)E(C)E
(e) 3TH & BIS &
“2x + 6 = 4x — 2 THBROT BT BA BN |

(a) 1

)0

4
®3 (0 3

() 3T & I e

1
(@) E
(d o0

7.9243.59-238="2

(a) 8.13 () 7.14 (©)7.13 (d) 6.13

i [a+lj:3ﬁﬁ (a2+izj=?

a

(a) 18 ()7 (011

(d9 () 378 ¥ IS Tl

(1257)" x(493)** x(4612)* gbTS 37 BFTI—
(a) 2 (b)4 (06 (d)8
\/—\/§+\/3+8\/7+4\/§ P A B

(a) 1 (b)2 (c)3

(d)8 () 378 ¥ IS T

fr=ferlRad & gew o) A= -3 27
@) V7 -V5 () V97 (©)V1-40(d) J5-3

(0.75) 2 _
YT +[0.75+(0.75) +1}zﬁr T T B
@1 d)2 (©3 (@4 (e) STH A IS &I
21
A B
3l+1l 2+ !
2 7 2+L
1
5
()1 L @2 @ +
2 ¢ 3
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P

(Addition And Subtraction)

11-

12-

13-

14-

15-

16-

17-

18-

20-

21-

1 1 1 1 1 1 1 1
—_——t e — 9

t—t—t—F—+—=1
9 6 12 20 30 42 56 72

(d) ——

b) 0
®) 2520

1 1
a) — C)—
()2 ()9
?JﬁA?b‘rng?b‘rB%:CEb‘rOﬁ%TFﬁA:B:

C8Ir?

(@2:3:3 (b)3:4:5 (¢)4:5:6 (d)9:8:
10

T ¥ B e ot aif T8 2

(a) 403041 (b) 123904

(€)96721 (d) 3TH | BIS T2
T ¥ B e gt 9 87

(a) 19881  (b) 18971  (c)17951  (d) 16831
15876 & T H SHIE BT 3w AT BRI?

(a) 8 (b) 6 ()4 (d)2

(0:4) 1 wfer e 27

(a) 0.6 (b) 0.7 (c)0.8 (d) 09
1/0.00004761 =?

(2) 0.00069 (b) 0.0069  (c)0.069 (d) 0.0609

2600% BIEI I BIEI $IF A AT Sled R I8
qul 3 9= SRATT?

(a) 1 ()5 ©)3
(d9 (e) 3T & BIg T

666 BIET & BIET BT Al F&IT Se R I8 qof
A g9 SRATT?

(a) 10 (b) 20 (c)30

(d) 40 (e) ST & ®Ig el

86024 BICT ¥ BICI BT A TR Siled R I8
qut 3 &= SRATT?

(a) 234 (b) 47 (c)128

(d) 36 (e) ST | BIg eI

I BISI W B W& A 216009 IO &1 &R
U YU a4 SIQ°

()7 (b) 11 (©)3

(d)6 (e) 37T & BIg T

22-

23-

24-

25-

26-

27-

29-

30-

I8 BIEl ¥ BIE WA T 23528 0N BRI W
OEHS Yot @ 99 e

(a) 4 ()3 (c)2

(d)1 (e) ST ¥ BIg I

1470 &7 9w BIE | BIE W& 9 A9 € &
IR Qe gof af &1?

@) 5 (b) 6 (©)15

() 30 (e) T & BI &I

TH fJue § e AUe § Sdd wey ford

FTaT S1edT9d o | S99 @l 72990 YHhid
T | fAemera # rudl B T fhde 87

(a) 18 (b) 23 (c)27
(d) 37 (e) T | P &l

et Tfg & Ui @ 9= 72258 SRR S
PHAR H I B Us & T & daRl b G 8

T TP BAR H Usl BT G T 87
(a) 21 (b) 39 (c)47
(d) 85 (e) 88

FfBad 1525 AP B IR 39 IPR Wl fhar
7 B R ude dfed | Saq & Afve ' frae
P dfdd B, dr dasv fF AT wRA WR - fhad

Gfe dfed | 9ER <8 SIRA?

(a) 36 (b) 69 (c)5

(d)4 () T ¥ BIg el

AT 22T 88 AT BT 3R =T BRIT?
(a)2500  (b)5000  (c)3500

(d) 7260 (e) 79 A PIg 8l

g ~gAdH qut oI A= S 3, 4, 5, 6Ud 89 fawrey
g T BET?

(a) 30 (b) 7200 (c)900 (d)3600  (e) 400
2242 =2
15 7 3l
(a) 216 (b) 28 (c)232 (d) 2°
x\x x\/; =9
1s 7 3t [}
(a) x'6 (b) x? (c)x* (d) x64
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P

(Addition And Subtraction)

31-

32-

34-

35-

36-

37-

38-

39-

40-

41-

\/5+\/11+\/19+\/29+\/E =7

()3 (b)2 (c)4 (d6
\/248+\/52+\/m =2

(a) 14 (b) 16 (©166  (d)188
\/30—\/29—\/20—\/3 =7

(a) 4 (b) 6 (©)14 5
\/106—\/32+\/25—\/§ =7

(a) 11 (b) 10 ()9 (d) 12
\/21+3\/59+\/16+§/72_2 +49 =2

()4 (b)5 ()6 (d)8
Y728 +52 43143143343 =2

()4 (b)5 (©)8 (d)6

A x=3+3+3+ . 5L ks M A = A o o
27

@x=3 (b)3<x<4 (©x>3 (d)2<x<4
7+24/10 &1 ailHe @1 ger?

@V5+2 ) V5-V2  (©7-2
@VT+2 (VT2
19-8\3 &1 avfger 8-

@ 2-vJ6 () 4+43  (©5-3 (d)4-3

AT 841 BT I 29 &, Al /0.0000084 1 SRTER &—

(2) 0.029  (b)0.00029 (c)0.0029  (d) 0.29
Ife 4096 =64 Tl

40,96 ++/0.4096 ++/0.004096 ++/0.00004096 BT AT B—
(a) 7.1014  (b) 7.09 (c)7.1104  (d)7.12
998 x 981

(2) 961374  (b) 1106440  (c) 979038

(d) 11235 (o) STH & ®IS 7T&1

43-

44-

45-

46-

47-

48-

49-

50-

51-

1009 x 993 =?

(2) 99937  (b) 1000937 (c)1001937
(d) 98937 (o) STH | BIY &I
T SRR / Hf8d /AR / Succe  seive AT

HT OEHS 9506 2| IFT H F BICT H&@T B A
27

(a) 96
(d) 99

(b) 97 ()98

() 3T & I e

31 HiAE FH Gl BT [UHH 9408 B | Ml H
¥ 9 HeE 2

(a) 96 (b) 98 ()94

(d) 92 (¢) T8 A BIS &

T AT DI 555 AT 445 B T A fAHIRIT R
W IRHA I9d FR & QA & aRER 3T &
3R UUHE 30 3T 2 | TGIAR F&AT IS ?

(a) 220030  (b) 22030  (c)1220
(d) 1250 (e) T A P Tzl
9o & U Ued H fa9oid, AT%d &1 10 AT

AR UYTHA BT 5 UM T| TGGIR, Ife IHH
B 40 B, AT HIoT fba=T BIT?

(a) 240 (b) 440 (c)4040
(d) 4000 (e) 79 A PIg 8l
14 =2

14 14 14 4
(a) 10 (b) ry (C)% (d) 16
2357="7

2355 2357 2355
@ S99 ® 5o @500
(d) 37 9 BIg &I
387-259=2
(a) 1.20 (b) 12 (c)1.27 (d) 1.28

(a) T VT 310 4/7 | 60 AfH 2 | G a7 27
(a) 140 (b) 60 (c) 104 (d) None of these
(b) fHel e qor S 4/7 & dE BT R 15
2| T @R g
(@)25  (b)35

(c) 45 (d) None of these
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P

(Addition And Subtraction)

52-

54-

56-

Ueh fAemer § 1/4 w17 STsfhdl 9o 1/6 91T dso
U ffR § 9FT o €1 gt faenial a1 feaer
a7 fRIfR & 9T =781 oy &7

(@) 5 (b) 12 (c)% (d) None of these

TP Uil BT 1/6WRT oIl T 1/39FT I%e 2| afe
AT Aol 8 TAT 39 Aol 9T B TTs 18HeN &f

a1 Ut @Y el T T 87
()16  (b)36  (c)45

(A) U% 919 BT 1/109TT el qam A9 BT 3/89TT
Blel T A [ g3l | QAT 9HeR ared T |
M BN AT SHDT B Tg R 27

(@) 9 (b)16 ()15 (d) None of these

(B) f&dy o & 0.1k 589 wwer gl <iR
U W qT @ Y o Ty 11’ Ul @
SR T | IE DI ARSI B°

(a) 11 (b) 30 (c)40 (d) None of these

frell @em H o1 el &1 3/89RT STl T

I Asd o | IR TefRAl @B HWA BT 2/99NT

TqAT ASPHI @ AR HT /4997 IrguRera &1, ar
G faenfil @ e &1 fadaer wrT SuRerd 27

(a) % (b)% (c)g (d) None of these

(a) & drferd # 1349 dHary 8 s 4
1298 faariRa € der 1/3faarRd Afemart
& g 2| afk 3/4ysy fafza & der
2/3fafed gt & 9= @, o G wHEnRar

(d) None of these

@ fbdd 9T & g2 T8 87
18 11 5 6
(a) & (b)ﬁ (C)E (d)ﬁ

TP BIE 7 Vb WP Pl 3/8 AN Ugel fad
AT BT 4/5 9T TN &7 Tor AT HT 2/391T AR
f& Uer d 30 U U RE | YRID H g IO Bl
e faer 872
(a) 702 (b) 207
(A). U® g THF W ST WaR AU Y4 3d1g
DT 3/4 SIS $S Wl g | e 99 T Bl
329X B SATs | Bl oY, df dN e
@ 9 98 fhadl Sars ddb SU?
(a) 24 (b)18 (c) 13.5 (d)None of these

19 A oI A A= &1 6/7 99 BT BT AT
T [EF AT 9 A= B 6/79 W T feaw

(¢) 720  (d) None of these

57-

58-

61-

AR FE SR I 13/70 106 SR 9T fhar| a8

=1 =g pIfvTg?
5 3 2 5

(@) 3 (b)g (C)g (d)E

(a) U wer ¥ us fIenedt o feft S @
3/143Td BRAT o7 | S faeneft ° s g=ar @
3/45d AR fear S fb Sip SR 9 1503726
o7 | IS AT RIT B

(a) 820 (b) 820 (c)280 (d) None of these

TP Shl 2/599 B | Ife $H 16efer UFY &R ST
¢ Al SB BT 6/7UNT WX WAl & | SHl B eriRar
faer 87 [4/5 ¥RT —6®TaT —4TTalT —3/4%1]
(@)40  (b)35 ()53  (d)16

(a) IR g2 A, B, C, DEB w109 H dfcd 2|

ATIDT %WQW?TI?WWZBWTB@HT?I

3P 91¢ 99 9T B CTAT DIRTIR—aRIER dic
Ad 2| G BT faar wir Car fAerar 27

1

3
(b) 7 (d) "

Tp B~ W 2 fF SHPT &), W I 280h B
gfe ofer § 19T < 9T &% H 19el € df f= &1

W%ﬁw%fﬁﬁrwé?

1 1
(a) b (©) 3

3 7 5 11 . !
(a)g (b); (0)7 (d)E (e) T | BIg el

TS = &1 &% I9a M ¥ 4310 7 @ik Al
3T H 79 oMU a1 e 19 e 81 Wrar ®
=1 @7 87

3 1 3
(a) 1 (b) 5 (C)g
@3 @A @

el i1 & ofer 9 & # 2 : 3% o1 B A
3G 3 H F 6°CH W o i urd Bt § 98
g M & 2/3% SRR © A Jd = BT oS
e 27

(a) 27 (b) 6 ()18
() 36 (e) S & BIS 7RI

Ife T A= BT 3 150%deT fear g 3R 8%
350%%er fear i ar gRomdt =1 25/3137ar 2|
ol =1 39 a1 87
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(Addition And Subtraction)

62-

63-

65-

66-

67-

68-

@5 O ©p

@3 @S W
11 L

7+6+;

@2 15 ©3 (4 ()FH P T

1

5+ =
6+ 11
6+—
10
(a)2 (b)5 (c)3
(d)4 (e) ST ¥ BIS &l
1
1
3—2 I
5
7
(a)2 (®)5 (©)3
(d)4 (e) TH & BIS &I
1
3+7_ > =9
4+ 51
6+—
2
(a)2 ()5 (©)3
(d)4 (e) ST & BIg el

fooelY =m # 369 9T °F WX 99 3199dr © qr
S W HO12/18/69 U7 o9 WX O9Y T
FT?[VAR — @ (square)/ T (cube)H T <]

(@7,13,1 (b)13,7,1 (0)1,13,7 (71,13

fooddl ST # 49 9T 9 W AVHS 399dr § ql
I AR EAT H 49 9T QF WR AT fohdT
T BIRTT?
(a)4 (b)3 (©)2 (d)1

Tl Y 63 99T B | ST I AT Bl BT I
qrofep & farforg exad € o 919 55 991 8 | 9oTdh

fope=r 87

(a) 71 (b) 63 (©)55 (d) 72

69-

70-

71-

72-

73-

74-

75-

76-

T AT BT 585 F HNT B & ol Th B o
3 PANTT ® I HII: 5, 9, 13 F 9FT eIy qen
YYHS 4, 8, 12 Ui By | afe a8 SS9 d=r @l
585 9T <dT AT ATHS R YT sIar?

(a) 585 (b) 12 (©)7 (d) 584
o9 foHsdt | # 9, 5, 4 W IR W7 A S
2 1 A9He HH: 6,2, 3 U BT & AT ST -
(a) T8 B A B I B A1 2 |
(a) 37 b)7 (©)339  (d) None of these
(b) = | H 180 ST 9, 5 TAT 4 HT UG 2 |
A 9RT & R ANHS T BITT?
(@)6,2,3()3,2,6 (¢)2,3,6 (d)2,6,3
(c) ST =T H TITAR AT 4, 5, 9 H (AT HSTDT
B HH Iocl B AT I 9FT & R ATHA
HHT: FIT BIIT?
(a)3,4,7 (b) 7,4,3 (c)4,7,3 (d) None of these
(d) afe Sifcm IrTher 7 81 a1 Awr qang?
(a) 1419 (b)9141 (c)4191 (d) None of these

(27 + 29 + 35)® 13 9 AN & W AVhA &1
JIRATT?

@2 05 (©3 (D4 (FH ¥ PIg Tl

[(27)° x (29)2 x (35)*] T 13 ¥ 9T &1 OR %ol
T 3MRTT?

@2 ()5 (©3 (D4 ()T | PIg Tl

(18)18pr 18/ 17/ 19 | WIT faar Sy @ o @&
BRI

(a) 0,1, 18
(d)1,0,18

(b)18,1,0 (c)0,18,1
() T4 & ®Ig Tl

(7' + 2) B 6 | 9T faAr AT B, A9HA w7
EIIT?

@5 3 (©2 (D1 ()3 A PIg &l

(677 + 67) B 68 ¥ faifiora fhar SITw a1 Ivwa
T BIIT?

(@) 67  (b) 68 (c) 69 (d) 66 (¢) TTH A BIS &

(1839 — 3488) &I 17 | W T W AYHA AT
IRTT?

@2 )5 (©3 (D4 ()3 A BIg 78I
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(Addition And Subtraction)

77-

78-

79-

80-

81-

82-

83-

84-

85-

87-

88-

90-

[(138)% — (135)6] @I 27 | ¥NT T WX Y AT
MRTT?

A4 (o) T & B e

(25% + 1) + 24 AT 9B —
@2 ()5 (©3 (4 (o) ¥ DI 7Tl

(29)°FBT 597 79 AT < R Y FIT SAT?
@2 ()5 (©3 (4 (o) ¥ DI 7Tl

(34)'°®T 7/11 | WRT 1 UR Y% T AP
@2 ()5 ©3 (4 (e)T | DY &l

(32)'9°®T 7/8 | |TT TF WR ATHA FAT IMRAT?

@2 bS5 ()3

(a)2 (b)5 (c)3
(d)4 (e) 379 W BIS &I

31T 5 fAuIfoTa BT IR ATH RIT IMT?
(a) 2 (b) 4 (o1 (d)3

71 9 9 B A G 57+ 572 + 5P [ avE
T e |t 87

(a) 150 (b) 160 (c)155 (d) 30
271+ 272+ 27 + 274 e | e gei—
(a)9 (b) 10 (©11 (d) 13

63 + 632 + 63w HEm I fwTiord Brfi—
(a) 86 (b) 33 (©)35 (d) 65

481 + 492 4 49 4+ 4 T 3 fqwTioTd BRT?

(a) 11 (b) 13 (©)17 (d) 19
216 1 =1 B 9 fhgse g fawrsy 27
(a) 11 (b) 13 (©)17 )15

Ig IS dI A& Fd BN Sl (0} — n)(n — 2) B
Y ATl U HAT DI Yoid: famiiord sl SiEt
nPHE 29 TS Uhd GE 2 |

(2) 6 (b) 12 ()24 (d) 48
(64)* " =axsb)_,

9 20 20 7
(a) 20 (b) ry (©) = (d 20
%/X7 X 3 X6 = X?
(@ 6 (b)s (4 (d)7

91-

92-

94-

V86.49 +/5+k% =12.3dT k=2

(@ 2 (b)3 (©1 (d)4
332 334 +3/500 =2

@ 44 324  (©624  (d)916
(\/§+\/§)z =?

@) 8+2415 (b)8—2415
(©)12-2435 (1242435
(V75 =2

(a) 8-2435 (b)8+24/35
(©)12-2435 (d)12+2435

95-  7+2410 T TS FT BM?

(@) 5443 0)5-V3 ©V5-B (@542

96- (415 a1 aieger 27
@) 3V3+245 (b)%(x/g+\/E)
) V5+3 @) 2v5+3
97- (345 )T aie @ 22
3o J3o1
o) o
sy el
(b) [T_ﬁj (d)( >3
98- (7435 )7-35 a1 it 2
@ V5 (b2 (©) 4 @35
99- \/—\/§+\/3+8\/7+4\/§ T A B
(@) 1 (b) 2 (©)3 () 8
100- A x=4-I5a1 x+L=2
X
(a) 0 (b) 1 (©) 8 () -8
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(Addition And Subtraction)

101- 7R a=(5+2/6)a o (\/' jfm a e | 110 (75U BN -7 e (T - B )i e
Va ST B AT 27
BITT?
5 5 @)V -5 ®V5-3
(a) 22 (b)3v2 (c) 243 (d)343
¢ ©9 -7 @10
2
C
102 aRa=(7-J5)wr o= (e A S (5 i) U T B e (5-3) 4
BT AT T BITT? JId BICT B AT 87?
@1 (60 (c)% (d)g @19-317 ORER
V75 () V53
1
103- 5~ \/—WEW 112- 260 3% 4% Qo524 & ¥ TRy g7 BIF AT ?
() 3+242 )3-242 ()2 (b)3" ()4 (@5
1 1 113- 2250 3150 5100 qogr 4200 Feeraff # | BIET FwT
©7 @6-22) L=
104- \/_ I J— gﬂﬁ 5 (a) 2250 (b) 3150 (C) 5100 (d)4200
5 Bl
1111
114- ——+ + + + =?
@ 5 5 (©10 (d)3f+J_ 1x2  2x3 3x4 4x5 5x%6
(@)1 OF ©3 @3
105- ‘/EJ”E:?
32 s, Lol tototo1
30 42 56 72 90 110
(3)5_2\/5 (b)5+2‘/g ©35-246 (d)5+246
5 5 55 | 6
(a) 3 (b) g (c) 3 (d 3
106 \/§+\/_ Vo7
BT o7 116- (1-%}(1-%}(1-%) ......... (1—1):?
n
@3+J7  (b)16 ()32 ) 8 )
(@) n (b); (c)2n (d)3n
10§ 1 —_— =? 1 1 1 1
J12-V140  y8-60 104434 117- (I_EII_Z]@_EJ ......... (1—%]:?
(@) 0 (b) 1 (c)2 (d)3 1
1 | 1 1 | (@ 25 ()5 (C)E (d) None of these
108- p _ _
N G N N N SO N S S - Y 3V s 000
118- [z__j(z__j[z__] ......... ( __j:v
@1 )3 B ) 1001
©5 (@ ¥ T T @ eSS 02 @
109- V3, 2,70 32 ¥ & wad adnrEm B @R | (1+1J(1+lj[1+1j ......... (1+$j=?
@3 ®™¥2 @2 ) Y4

H.O. : Park Road, Civil Lines, Near City Mall / (b)O. : Hariom Nagar, Near M P Inter College, Gkp. (9451518751) 30




P

(Addition And Subtraction)

2 4 121 fear Sy, @ i@l @& WM I O § dl 98
(a) ol (b)g (0)7 (d)None of these e
(a)73,37 (b)46, 64 (c)82,28 (d) None of these
lzo_aﬁ{ﬁzigﬁ?ﬁ_ 130- G (BT ¥ g1 T H qBE (P, SHS b A 2
y 3 &9 2| AR G B R § e B o e
(A). X2 o W T R BT 6/7 IS T AT 108 U BT 2
y=38 ol AT B 3BT BT AN feberer 87
(a)3 b)2 (c)-3 (d) None of these (a) 7 (b)6 (©)5 (d)8
23 432 131- T 3dI BT UH AT H IhIs Bl 3fF TB8S B 3H
(B).W:? ﬁZm%lW%WWWWW@
4 3HH ¥ =T S AR
127 -107 2 2 (a) 32 (b) 35 (c) 13 (d) 46
@5 O 0 @157 132- U& WiTdl § §B T &R B dn & | afe RR) @
63t 4y FHol A& 35 3R W @ FaT wEA 100 B A ad
(C)~m=? D [l G T DN |
(@ 15 ()35 ()25  (d)20
(a) 44 (b)45  (c)-44 (d) 40 133- W a1 TSRAT & UH g H 16 W T o R A
995 T A 10 3D T | T WSl B AT 47 87
121- 999@@99@ A B— @ 4 (b2 © 6 ()8
(2) 998996 (b)998999 () 990809 (d) 999824 | 134- Al TN a7r@l & UH wHE H BRI @ wewm &
_ SE W 24 AP W2 A @ G wgE A
SPIS BT APd 4T BH? Ry 7
122- (233)62479 (Xb)s ;2 @2 (@8 @ 12 ()13 ()24 (418
135- ®B 9IS AR Ial & A1 H AH Bel off 8
123- (2137)™ 3| areft § SmIER @ ) sy wet @ de
@7 ()9 ()3 (d)1 W AR € 3R AY °ISl Bl AT F GhghR Tl
w® B AR g W g g dweAl @ A
124- 337 x61* x7% 70/100 ® @1 9= ®rg fohar 7
(@) 14,20 (b)20,14  (c) 13,20  (d) 19,18
@ ®7 @1 (g 136- ¥l & TP S[S H FHl 9l DI AT B A
125- 1719 41111990 _719% T H 2| AT B M A fRAR ? Jor AW 28 U
@7 6 ©1 @0 WR g, Al Il DI Bl G T 87
(@) 499 ()36 ()25  (d)64
126 6"0x77 1177 3 aprey oS @ G e | 137 U HolgR @l 30 fad & folw 12 wwy ufdfed &
37 AT W 39 T W I T fF AR TR I
@64 ()71 ()81 (DT A B 7E j:&{ o a\?’_: 22:2;;2 ﬁ%m
25 1 fhar?
127 B3 X0 o s @ e 2 @15 6  ©10 (@20
1
(6)° 138- WaH Raw w175 9w § @a Howd
(a) 64 (b) 65 (c) 66 (d) 67 RR—R ST o | w®g 35 T B
128- Qi%ﬁoggx(mo); F M OEETS gﬁaﬁ?ﬁﬁ @ [Tﬂqg—cﬁﬁ;j ;? 4 P
' (a) 2000 (b) 1500 (c) 2800 (d) None of these
@6 (7 (©8 ()3T B T 139- 450 BT ¥ B T @AE o Gl £ | A D
129- <1 3P dTell U AT & 3Bl B ANTHA 10 & | ﬁ?“”ﬁq”ﬁowgﬁﬁﬁsﬂﬁ@mﬁ
Ife wW W@ W 36 "el f3ar oy /# 36 wie U At g WRIET ST Haddl o | fha g
@RI TS
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(Addition And Subtraction)

(@ 30 (120 (©)25 (d)45

140- TP &1 S HN 4 $v 49 2| I IS 99 R 4
faemeff 93 & @1 3 99 @l w® 9 € wg A
TS d9 R 3 el 93 @ 3 RenlR @ s
TEI Aol & | ®er H go fdenefl 87
(1) 48 (0)36 ()24 (d)54

EXERCIES SIMPLICATION -II1"
1-  5554.999+50.001=?

(D110 (2)150 (3)200 (4) 50 (5) 125
2- 647+ 41=64"

(H9 ) 3 (3) 12
4) 7 (5) None of thes
32 38 6lisloy
7 4 73
65 1 79
1)1—= 2) 8— 3) 22
) 84 @ 84 ©) 84
47
4) 55 (5) None of thes
4-  14% of 80 + ? % of 90=31.9
(1) 16 (2) 23 (3) 18
4) 26 (5) None of thes
5. 44194481 =2
(1) 17 () 19 (3) 21
4) 23 (5)27

3 4 9 2 .3
6- Zof—of —o0f21175=2"x3"x?
5 f7 fll f

(H45 (2) 48 (3)51 (4) 54 (555
7- 16 .5%0f1399.921 + 114.78% of 1211 =2
(1) 1270 (2) 1350 (3) 1490
(4) 1530 (5) 1610
8- 4% of 250 x? % of 140 = 84
12 25 3)6 )8 (5) None of these
9-  (6x6x6x6x6x6)* x(6x6x6x6x6x6)° +(6x6)" =(36)°
(H15 )2 (3)16 (4) 29 (5) None of these
10- 45+1.5-0.5="2

(1)22.5 (2) 255 (3)29.5
(4) 45 (5) None of these

11- g><i+§:?
7 14 7
(1)27/10 (2) 13/15 (3) 27/70
(4)12/35 (5) None of these

12 6= -3Lisl_y
16 16 8

5 5 3

1) 5— 2) 4— 3) 9=
(157 (2) 475 () 97

13-

14-

15-

16-

18-

19-

20-

1

4) SZ (5) None of thes
£x1—7><74046

14 15
(1) 202 (2) 218 (3) 233
(4) 227 (5) None of thes
83% of 2350 =7
(1) 1509.5 (2) 1950.5 (3)1905.5
(4) 1590.5 (5) None of thes

V1089 +3 = (2)?
(D5 26 33 @H8 (54
96 +32x 5-31=2

(1) 223 (2) 225 (3) 229
(4) 221 (5) None of thes
?7+36=(7)2-8

(1) 1426 (2) 1449 (3) 1463
(4) 1476 (5) None of thes
V8281 =2

(1)8 (2) 97 (3)93 (4) 91 (5) &3

1798 =31 ? =348

(M3 2)6 (@(B)4 (4) 5 (5) None of thes
43% of 600 + ? % of 300 =399

(1)45 (2) 41 (3)42 (4) 47 (5) None of thes
Directions (21-28) : find out the approximate value

which is closest to the value that should replace the

question mark (?) in the following questions. (you are

NOT expected to find out the exact value)

21-

22-

23-

24-

25-

26-

27-

J1223.9975

(110 (2) 144 (3)35 (4)12.55 (5)125
1205+2.5=?

(1)3000 (2) 4800 (3)300 (4) 480 (5) 500
22020 = 0.011 =2

(1) 20020 (2) 2000000 (3) 200200
(4) 200002 (5) 200020

3500 x+/740 =2

(1) 172 (2) 244 (3)216
(4) 182 (5) None of thes

452 +69.994 = ?
(1) 1300 (2) 110 (3) 1600 (4) 1500 (5) 1400

2
(1000899) 73535 w0.4987 = 2

10009.001
(1) 3000 (2) 4000000 (3) 9000000
(4) 300000 (5) 5000

What approximate value should come in place of
the question mark (?) in the following quation?
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(Addition And Subtraction)

28-

29-

30-

31-

33-

34-

35-

38-

39-

35% of 1478 +29% of 3214 =7
(1) 1600 (2) 1250 (3) 1300 (4) 1450 (5) 1500
What approximate value should come in place of

the question mark(?) in the following quation?
5/7 of 1596 + 3015 =7 -2150
(1) 7200 (2) 4800
(4) 5800 (5) 6300

What approoximate value will come in place of

(3) 5300

question mark (?) in the following equation?

21.0091 - 6.085+13.24=(35+7)2

(1) 6.5 ) 10.5 (3)15.5
(4) 20.5 (5) 24.5

20538 + 6240 + 3005 = ?

(1) 27000 (2) 30000  (3) 35000
(4) 40000 (5) 33000

10% of 62.513 + of ?2=11

(1)25 (2) 40 (3)48 (4) 30 (5) 45

33 % of 2=101+296

(1) 800 (2) 1800  (3) 1500 (4) 1200 (5) 900
20V2 + 15 % of 481 =?

(1)200 (2) 150 (3) 100 (4) 250 (5) 300
Approximately, what will come in place of the
question mark (?) in the following equation?
1559.999 +24.001 + 11.005 6.999 = ?

(1) 137 (2) 132 (3) 152

(4) 142 (5) None of thes

0537 9509989 _ g5?

(19 23 (3299 4) 3.6 (5 27

J100 +% of 1891.992 = ?

(1)2500 (2) 1200 (3) 1640 (4) 1525 (5) 2130
137% of 12345 =2

(1) 17000 (2) 15000 (3) 1500 (4) 14300 (5) 900
12.49% of 839.859 = ?

(1)95 (2) 100 (3)115 (4) 105

V10*!' x10%7 =2

(5) 90

40-

41.

42-

43-

45-

(1) 100 (2) 10 (3) 1000 (4) 10000 (5) 10°
26.82327.9234.5001=?

(1)3775 (2) 3780 (3) 3800 (4) 3805 (5) 3750
196.1x196.1x196.1x196.1x4.01x4.001x4.999
=196.14 x4 x?

()100 (2) 16 (3)10 (4) 64  (5) 32
21 3 6
—X—F——=
7 8 7 16
2 3
M @ G @25 (55060

10.12%1 42,9301 =9

(1)130 (2) 160 (3)115 (4) 117 (5) 147
J1999.9997 = 4.76x?
()11 ()45 (349 (4 6 (5) 9

In the following quation what approximate value

will come in place of the question Mark (?)?
85.147 + 34912 6.2 + 7 =2802.293

(1)400 (2) 450 (3)550 (4) 800 (5) 500
What approximate value should come in place of

the question mark (?) in the following question?
29.3527.8973.732 ="

(1) 30 (2) 45 (3) 60

(4) 80 (5) None of these
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